11Iro

HNmsna: Ekarteprna
Bospact: 41

IMon: ZKenckuit

®UO: Ilapeépkun Vropb ApkagbeBuY
Cnenmanu3anmus: Yposor

YuéHnasi CTeneHs: KaHOUOAT MEOUIIMHCKUX HAaYK

oOpaiieHus ManmueHTa 3a KOHCcyabTamuen: 18.05.2012 17:18:30

dopmupoBaHusi 3aKim0ueHnust Bpaua: 23.05.2012 09:12:05

Appec B cetn UnTepHeT: https://03uro.ru/consultations/question/264373/answer/264617




1. Y3U noyex - ecTh 71U HEI03KTa3usd. 2.B\B yporpadus 3. TUHEKC -403a - I10 COrIaCOBaHUIO C
BpaydoM. 4.KJIIOKBa - B JII0OOM BUfIe 5.2KUAKOCTE - 10 2 J1 BHYTPh. 6.KaHedpoH 21x3p 30 gHE.
7oudmykan 150Mr 0GHOKPATHO.



